Markov Chains

Sunday, October 8, 2017 11:02 PM

We will start with the simplest case, discrete time & space Muhou Chains

We suy Xo, X, ... is a My how chain if

[P[Xn=an | Xo=an..., Xn-1=an.] = [P[Xn=un | Xn-1=an.]]

France | Present & Past = France | Present

Examples

1) Xn III

2)
$$X_n = \frac{2}{5} Y_n$$
, $Y_n = \frac{10}{5}$

3) Card shuffle

4) Randan walks on a graph



5) $M_n = \max_{1 \leq i \leq n} X_i \times IID.$

It is time homogeneous if P[X=y|X==x]=P[X=5/X=x]=Px

and we call Pay the transition matrix. Its rows sum to 1, E Pxy = 1 called a stochastic mutrix. Lemma: IP[Xn=9/Xo=x] = Pin = matrix power Assume true up to n. 1P(X+1=9 | X = x) = ZP[X+1=9, X=z | X = x] = EP(X,=y|K=Z, K=x).P(K=2 | X,=x) $=\sum_{z}^{n} p_{zz}^{n} p_{zy}^{n} = p_{xy}^{n+1}$ Poes it ever return? A state of a Markov chain to is

recurrent if

IP[In Xn =x | Xo =x] = 1 always returns otherwise it is transient.

Claim: A markow chain is recurred iff E Z PLK=x] = 00

Proof: Let N be the number of returns to x.

If recurrent, IP[X=x, Vm>n Xm +x] = Pu [X=x]. [P[Um 7n Xm +x | Xn=0] = Px [Xn = x]. [P[Um > 0 Km | Ko = x] = 0 If transient and q=1P[Xn returns tox] then N~ Geom (1-q) so EN < 00.

Theorem: If Xn is simple random walk on Zd then it is recoverent if d=1,2and transient if d > 3.

"The drunk man always returns home but the drunk bird may not."

Proof: If d=1 than Xn = Wn - (n-Wn) where Wn is & mora right by time n.

 $W_n \sim B_{in}(n, \frac{1}{2})$ and

[P[X=0] = [P[W2n=n] $-\frac{(2n)!}{n!n!}\cdot 2^{-n}2^{-n}$

 $= (|+o(l)| \frac{\sqrt{2\pi \cdot 2n} (2n)^{2n} \cdot e^{-2n}}{(\sqrt{2\pi n} n^n e^{-n})^2} \cdot 2^{-2n}$

= 1+ o(1)

So \(\int \text{P(K_2n = 03 \sigma \int \frac{1}{\sigma \text{Th}} = \infty. \)

Stirling's Formula:

[n! 2/27/n n e-n]

Let
$$Y_{n,i} = \Re\{\text{steps in direction } i\}$$
 $Y_{n,i} \sim \text{Bin}(n, \frac{1}{d})$.

 $Z_{n,i} = \Re \text{positive steps in direction d.}$
 $Z_{n,i} = \Re \text{positive steps in direction d.}$
 $Z_{n,i} = \Im \text{Bin}(Y_{n,i}, \frac{1}{2})$
 $X_n = \Im \text{iff} \quad Z_{n,i} = \frac{1}{2}Y_{n,i} \quad 1 \leq i \leq d.$

$$[P[X_{2n} = 0]]$$

$$= Z P(Z_{2n,1} = \frac{s_1}{2}, Z_{2n,2} = \frac{s_2}{2} | \gamma_{2n,1} = s_1, \gamma_{2n,2} = s_2)$$

$$P(\gamma_{2n,1} = s_1, \gamma_{2n,2} = s_2)$$

$$\geqslant \sum_{\substack{S_1, S_1 \\ \text{even}}} \frac{C}{\sqrt{S_1}} \cdot \frac{C}{\sqrt{S_2}} \cdot P[Y_{2n,1} = S_1, Y_{2n,2} = S_2]$$

$$\frac{C^{2}}{n} \lesssim P[Y_{2n,1} = S_{1}, Y_{2n,2} = S_{2}]$$
even

$$=\frac{C^2}{n} \left[P\left(Y_{2n,1}, Y_{2n,2} \text{ even} \right) = \frac{C^2}{2n}.$$

$$= \frac{C^2}{n} \left[P\left(Y_{2n,1}, Y_{2n,2} \text{ even} \right) \right] = \frac{C^2}{2n}.$$

d > 3:

Let
$$A_n = \bigcap_{i=1}^{n} \{ Y_{n,i} > \frac{n}{2n} \}$$
 $P[A_n] > 1 - de^{-cn}$
 $P[X_n = \frac{5}{2} | Y_{n,i} = 5] < \{ 0 \le is \text{ odd} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = 5 \} < \{ 0 \le is \text{ odd} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = 5 \} < \{ 0 \le is \text{ odd} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = 5 \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = 5 \} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = \frac{5}{2n} \} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = \frac{5}{2n} \} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = \frac{5}{2n} \} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = \frac{5}{2n} \} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = \frac{5}{2n} \} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = \frac{5}{2n} \} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = \frac{5}{2n} \} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = \frac{5}{2n} \} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = \frac{5}{2n} \} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = \frac{5}{2n} \} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = \frac{5}{2n} \} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = \frac{5}{2n} \} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = \frac{5}{2n} \} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = \frac{5}{2n} \} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = \frac{5}{2n} \} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = \frac{5}{2n} \} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = \frac{5}{2n} \} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = \frac{5}{2n} \} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = \frac{5}{2n} \} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = \frac{5}{2n} \} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = \frac{5}{2n} \} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = \frac{5}{2n} \} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = \frac{5}{2n} \} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = \frac{5}{2n} \} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = \frac{5}{2n} \} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = \frac{5}{2n} \} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = \frac{5}{2n} \} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = \frac{5}{2n} \} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = \frac{5}{2n} \} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = \frac{5}{2n} \} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = \frac{5}{2n} \} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = \frac{5}{2n} \}$
 $C = \sum_{i=1}^{n} \{ Y_{n,i} = \frac{5$